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What is Induced Copying?
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Identify suffixes that must be sorted
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We only need to sort ≤ n=2 suffixes
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Distributed String Sample/Merge Sort

I Sort strings locally

→ use string sorters by Bingmann and Rantala

I Compute splitters

I Distribute strings accordingly

I Merge received strings
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Experiments

node two Intel Xeon E5-2640v4 (10 cores each) and 64 GB RAM

PE one MPI thread per CPU core

input real world texts (90 MB or 28 MB per PE) up to 115 GB

CC ff = 242
DNA ff = 4
Prot ff = 26
Wiki ff = 213
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Induce other suffixes
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Key characteristics

I 2ff2 synchronizations

I work roughly equal on every MPI thread

I repetitions aaaa: : : aa require special case

Experiments

I same set-up as before

I measure construction time and

I memory peak
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Conclusion

I very memory efficient and

I reasonable fast distributed suffix array construction algorithms

Future Work

I computing the LCP-array

Thank You
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